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20 x 60% = 74 x 60% =

2 x30% = 71 x 70% =

52 x50% = 100 x 50% =

4 x 50% = 78 < 80% =

40 x 80% = 12 x 60% =

74 x70% = 36 x 60% =

98 x 60% = 10 x 80% =

56 x 50% = 4 x 80% =

89 x 50% = 58 x 10% =

24 x 80% = 34 x 10% =
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20 x 60% = 12 74 x 60% = 44.4
2x30% = 0.6 71 x70% = 49.7
52 x 50% = 26 100 x 50% = 50
4 x50% =2 78 x 80% = 62.4
40 x 80% = 32 12 x 60% = 7.2
74 x70% = 51.8 36 x 60% = 21.6
98 x 60% = 58.8 10 x 80% = 8
56 x 50% = 28 4 x80% = 3.2
89 x 50% = 44.5 58 x 10% = 5.8
24 x 80% = 19.2 34 x 10% = 3.4
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